BK Albrekts
Dagstegen Omg 8

IMP over faltet, 18 bord, 36 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 209 291 Goran Sundqvist - Géran Svensson 34167 372
2 109 2.90 Ulla Aberg - Carola Unosson 65696 34164
3 106 2.40 Bodil Rehn - Maria Séderlund 60714 60715
4 8 2.20 Sara Bengtsson - Barbro Wulker 15829 20947
5 206 1.77 Jan Olsson - Frank Johansson 56443 56449
6 5 1.67 Britt-Marie Warborn - Bobbo Jovic 2783 48267
7 207 1.56 Ingrid Wackerberg - Gunvor Johansson 92023 34152
8 302 1.49 Hans Andréasson - Lena Martensson 8215 84025
9 3 1.46 Pia Nilsson - Gunilla Nilsson 48498 46751
10 303 1.14 Donna Diding - Inga-Britt Andréasson 15655 14841
11 304 1.03 Manfred Bachmann - Jan Flansbjer 26708 48282
12 1 1.02 Birgitta Lénberg - Siv Jacobsson 13579 7353
13 204 0.77 Inger Hedstrom - Ulla Hindsén 84020 19051
14 301 0.75 Britt Cufiat - Morgan Larsson 7921 2752
15 307 0.38 Kerstin Kagstrom - Inger Engelbaek 45861 89103
16 108 0.21 Agneta Lundh - Ulla Sislegard 48375 39755
17 305 0.19 Maj Holmberg - Ingrid Kanje 45911 61712
18 2 0.15 Lars Goran Larsson - Bodil Gustafsson 2743 22165
19 202 -0.15 Ingegerd Peterson - Britt Bjérk 14153 14866
20 105 -0.19 Sonia Banghall - Pia Larsson 42729 50588
21 308 -0.21 Britt Inger Kjellman - Kerstin Gyllén 58665 58677
22 107 -0.38 Els-Marie Kjellin - Margit Arnudd 39104 48377
23 101 -0.75 Bengt Andersson - Carl-Olof Jagebro 5651 26790
24 4 -0.77 Lasse Holtz - Gunilla Jern 40165 45624
25 201 -1.02 Kjell Svensson - Bengt Bengtsson 4250 19714
26 104 -1.03 Gunnar Nilsson - Hans Jonrup 50600 52945
27 103 -1.14 Ulla-Karin Ericsson - Ingrid Dahlin 5316 45452
28 203 -1.46 Erling Gunnesson - Ulla Osterbrand 89016 89889
29 102 -1.49 Kenneth Svensson - Nils Svensson 14859 26780
30 7 -1.56 Agneta Klint - Birgitta Olsson 53947 53951
31 205 -1.67 Anita Riccius - Margareta Svensson 18080 86685
32 6 -1.77 Sigbritt Nilsson - Kerstin Persson 58752 33988
33 208 -2.20 Kitty Bertilsson - Karin Lindkvist 45868 48269
34 306 -2.40 Birgitta Lindberg - Birgitta Mansson 34160 20059
35 309 -2.90 Gunder Karlsson - Lars Jakobsson 60709 201029
36 9 -2.91 Christer Dellgren - Géran Hansson 60199 60707
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1201 44 O-1 T 100 129.0 -129.0 4 204 4¢DV -7 43 1700 279.0 -279.0| 1 201 4v V-1 &6 50 90.0 -90.0
106 306 44 O-1 ¥8 100 129.0 -129.0 1 201 44 S+1 vK 450 77.0 -77.0| 4 204 4y V-1 &2 50 90.0 -90.0
105 305 24 O= ¢A -110 60.0 -60.0| 5 205 44 S+1 vK 450 770 -770| 8208 INO-1 43 50 90.0 -90.0
109 309 24 O= +v3 -110 60.0 -60.0 (109 309 44 S+1 v6 450 77.0 -77.0(101 301 4v V-1 +Q 50 90.0 -90.0
5205 3¢ O= +¢A -140 42.0 -42.0| 2202 44 S= 42 420 61.0 -61.0 (107 307 4v V-1 ¢4 50 90.0 -90.0
8 208 24 O+1 #K -140 42.0 -42.0| 3 203 44 S= 42 420 61.0 -61.0(106 306 24 S-1 vA -100 27.0 -27.0
103 303 34 O= T  -140 420 -42.0| 8 208 44 S= 3 420 61.0 -61.0(108 308 2NO= &5 -120 15.0 -15.0
104 304 24 O+1 3 -140 42.0 -42.0|102 302 44 S= vK 420 61.0 -61.0(109 309 2NO= T -120 15.0 -15.0
3203 24 O+2 ¢4  -170 29.0 -29.0 (106 306 44 S= vK 420 61.0 -61.0| 5205 3vV= a2 -140 70 -7.0
102 302 34 O+1 «A -170 29.0 -29.0( 7 207 34 S+1 #A 170 -31.0 31.0(102 302 3v V= +Q -140 70 -7.0
107 307 34 O+1 ¢5 -170 29.0 -29.0 (105 305 34 S+1 vK 170 -31.0 310( 7 207 3vV+1l %6 -170 -10.0 10.0
108 308 34 O+1 v3 -170 29.0 -29.0| 6 206 34 S= vK 140 -45.0 450(103 303 3vV+1l ¢Q -170 -10.0 100
6 206 24 O+3 ¢5 -200 13.0 -13.0| 9 209 44 S-1 ¥vK -50 -118.0 118.0|104 304 3v V+1 42 -170 -10.0 10.0
2202 44 O= 3 -620 -135.0 135.0|101 301 44 S-1 K -50 -118.0 118.0 (105 305 34 S-3 vA -300 -63.0 63.0
4204 44 O= T -620 -135.0 135.0|103 303 44 S-1 ¥vK -50 -118.0 118.0( 2 202 4v V= ¢Q -420 -107.0 107.0
7 207 44 O= ¥v8 -620 -135.0 135.0 (104 304 44 S-1 #A -50 -118.0 118.0| 3 203 4v V= &6 -420 -107.0 107.0
9209 44 O= v¥9 -620 -135.0 135.0 ({107 307 34 S-1 &A -50 -118.0 118.0| 6 206 4v V= ¢Q -420 -107.0 107.0
101 301 44 O= ¢A -620 -135.0 135.0(108 308 44 S-1 3 -50 -118.0 118.0( 9 209 4v V= 46 -420 -107.0 107.0
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2 202 4v O-3 v6 300 129.0 -129.0| 2 202 INN= 44 90 71.0 -71.0|109 309 INV= v7 -90 110.0 -110.0
3203 4v O-3 #4 300 129.0 -129.0 {109 309 INN= vA 90 71.0 -71.0|105 305 2v V= 48 -110 101.0 -101.0
106 306 3v O-3 43 300 129.0 -129.0| 6 206 2¢ V-1 a2 50 53.0 -53.0| 8208 INV+2 vQ -150 86.0 -86.0
101 301 3v O-2 43 200 91.0 -91.0|108 308 3¢ V-1 #4A 50 53.0 -53.0 (108 308 24 O+2 %6 -170 72.0 -72.0
5205 3NV-1 42 100 55.0 -55.0| 9 209 Pass 30.0 -30.0f 7 207 INV+3 v7 -180 70.0 -70.0
1201 34 N-1 7 -50 -1.0 1.0 1201 INS-1 +A -50 5.0 -5.0|107 307 24 O +3 %6 -200 63.0 -63.0
4 204 34 N-1 o7 -50 -1.0 10| 8208 INN-1 44 -50 50 50| 6206 44 O= &T -420 -36.0 36.0
8 208 24 N-1 7 -50 -1.0 1.0(101 301 INS-1 7 -50 50 -5.0|103 303 44 O= &T -420 -36.0 36.0
109 309 24 N-1 7 -50 -1.0 1.0 (105 305 INN-1 5 -50 50 -5.0(106 306 44 O= &9 -420  -36.0 36.0
9209 34 N-2 ¢4 -100 -29.0 29.0| 7 207 2¢ V= ¥Q 90 -16.0 16.0( 1 201 3NO+1 7 -430 -37.0 37.0
102 302 34 N-2 ¢7 -100  -29.0 29.0 (102 302 2¢ V= &A -90 -16.0 16.0( 2 202 3NO+1 &6 -430 -37.0 37.0
105 305 34 N-2 ¢7 -100 -29.0 290 3203 2vS-2 ¢K -100 -21.0 210| 3203 3NV+1 v8 -430 -37.0 37.0
6 206 3¢ V= &5 -110  -29.0 29.0| 4 204 INS-2 7 -100 -21.0 21.0| 4 204 3NO+1 6 -430 -37.0 37.0
104 304 3¢ V= &5 -110 -29.0 29.0(103 303 2v S-2 ¢A -100 -21.0 21.0| 9209 3NV+1 v7 -430 -37.0 37.0
107 307 3¢ V= vA -110 -29.0 29.0(104 304 INN-3 &5 -150 -47.0 47.0|101 301 3NO+1 &T -430 -37.0 37.0
108 308 3¢ V= 42 -110  -29.0 29.0|106 306 2v S-3 ¢A -150 -47.0 47.0| 5205 3NV+2 ¥vQ -460 -52.0 52.0
7 207 2¢DV +1 #3 -380 -132.0 132.0|107 307 24 N-3 vA -150 -47.0 47.0|102 302 3N O +2 48 -460 -52.0 52.0
103 303 3NV +1 49 -630 -194.0 194.0| 5 205 2¢DV= &4A -180 -62.0 62.0(104 304 3NV +3 46 -490 -68.0 68.0
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5205 3NS+3 7 490 112.0 -112.0 |108 308 4&# V-2 49 200 75.0 -75.01107 307 3NV-2 ¢9 100 102.0 -102.0
1201 3NS+1 v2 430 87.0 -87.0| 8 208 3v N+1 &K 170 64.0 -64.0| 8 208 24 V-1 T 50 81.0 -81.0
2 202 3NN+1 ¥v5 430 87.0 -87.0| 2202 3vN= &A 140 46.0 -46.0|109 309 2NV-1 #3 50 81.0 -81.0
3203 3NS+1 v2 430 87.0 -87.0| 5205 3v¥y N= #A 140 46.0 -46.0|106 306 2v N-1 &4 -100 18.0 -18.0
8 208 3NS+1 v2 430 870 -87.0| 6206 3vy N= &A 140 46.0 -46.0| 7 207 2¢ V+1 T -110 13.0 -13.0
103 303 3NN+1 ¥5 430 87.0 -87.0|103 303 3v N= A 140 46.0 -46.0( 9 209 2&#V+1 «A -110 13.0 -13.0
104 304 3NS+1 v7 430 87.0 -87.0|106 306 2v N+1 #A 140 46.0 -46.0|102 302 2&V +1 ¥5 -110 13.0 -13.0
109 309 3NS+1 5 430 87.0 -87.0|107 307 3v N= A 140 46.0 -46.0 (103 303 3+ V= ¥5 -110 13.0 -13.0
101 301 44 N= &5 420 85.0 -85.0| 3203 2¢v N= &A 110 300 -30.0|] 1201 2NV= 3 -120 8.0 -80
6 206 3¢ S= ¢7 110 -40.0 40.0 (104 304 2v N= &A 110 30.0 -30.0| 2202 3«V+2 &A -150 -6.0 6.0
106 306 2¢ S+1 8 110 -40.0 40.0 (105 305 2v N= &A 110 30.0 -30.0|101 301 2+ V+3 &A -150 -6.0 6.0
4 204 3NS-1 3 50 -92.0 920( 1201 3vN-1 #A -100 -59.0 59.0({104 304 INO+2 v2 -150 -6.0 6.0
7 207 3NS-1 ¢2 -50 -92.0 92.0( 7 207 3v N-1 &2 -100  -59.0 59.0(108 308 2NV +1 &5 -150 -6.0 6.0
9209 3NS-1 ¢3 -50 -92.0 92.0(109 309 4v N-1 ¥9 -100 -59.0 59.0| 4204 INO+3 &7 -180 -21.0 21.0
105 305 5¢ S-1 &A -50 -92.0 920 9209 3#V= ¢vA -110 -620 62.0| 5205 3v N-2 4 -200 -35.0 35.0
107 307 3NS-2 ¢2 -100 -115.0 115.0|101 301 3+« V= vA -110 -62.0 62.0| 3 203 INO+4 8 -210 -36.0 36.0
108 308 3NS-2 v2 -100 -115.0 115.0| 4 204 4vy N-2 A -200 -102.0 102.0( 6 206 3NO= v9 -400 -113.0 113.0
102 302 64 N-3 &3 -150 -128.0 128.0 {102 302 4y N-2 A  -200 -102.0 102.0|105 305 3NV = 9 -400 -113.0 113.0
22 «E873 Bésta kontrakt 23 484 Bésta kontrakt 24 4 E94 Bésta kontrakt
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106 306 3NDV-2 ¢J 500 184.0 -184.0| 3 203 6NV-1 T 100 200.0 -200.0 {105 305 3¢ O-2 #9 100 76.0 -76.0
7 207 24 O-3 #J 300 127.0 -127.0| 5 205 6NV-1 T 100 200.0 -200.0( 9 209 44 O-1 &2 50 54.0 -54.0
109 309 2¢ N+1 &A 110 55.0 -55.0(109 309 34 V+2 v2 -200 136.0 -136.0 {103 303 2N O-1 %9 50 54.0 -54.0
105 305 INV-1 #3 100 53.0 -53.0(107 307 3NV +1 ¢4 -630 -19.0 19.0|106 306 3¢ O-1 %9 50 54.0 -54.0
108 308 44 O-1 6 100 53.0 -53.0|108 308 3NV+1 ¢T -630 -19.0 19.0|108 308 Pass 32.0 -32.0
8 208 INN-1 &5 -50 -9.0 90| 1201 44 0+1 #A -650 -36.0 36.0( 2202 2¢ O= &9 -90 -9.0 9.0
101 301 2v S-1 &2 -50 -9.0 9.0 2202 44 O+1 6 -650 -36.0 36.0| 3203 2¢ O= &9 -90 -9.0 9.0
3203 INV= +¢A 90 -29.0 290| 6 206 44 O+1 &#A -650 -36.0 36.0| 5205 2¢ O= &9 -90 -9.0 9.0
102 302 INV= &7 -90 -29.0 29.0(101 301 54 O= ¢3 -650 -36.0 36.0| 7 207 29 S-2 +¢2 -100 -17.0 17.0
1201 2¢DS-1 42 -100  -34.0 34.0|102 302 44 O+1 ¥3 -650 -36.0 36.0| 1201 2¢ O+1 9 -110 -21.0 21.0
2202 2vN-2 «Q -100 -340 34.0(103 303 44 O+1 6 -650 -36.0 36.0| 4204 3¢ O= &9 -110 -21.0 21.0
104 304 2NN-2 &6 -100 -34.0 34.0|104 304 44 O+1 +¢6 -650 -36.0 36.0| 6 206 3¢ O= #4 -110 -21.0 21.0
5205 24 O= &J -110 -41.0 41.0|105 305 44 O+1 #A -650 -36.0 36.0| 8 208 3¢ O= &9 -110 -21.0 21.0
107 307 24 O= #J -110 -41.0 41.0(106 306 44 O+1 7 -650 -36.0 36.0|101 301 3¢ O= &9 -110 -21.0 21.0
4204 2NV= ¢Q -120 -46.0 46.0| 7 207 5NV= T -660 -36.0 36.0(102 302 2¢ O+1 &9 -110 -21.0 21.0
6 206 INV+1 &7 -120  -46.0 46.0| 8 208 3NV+2 ¢T -660 -36.0 36.0|104 304 2¢ V+1 &9 -110 -21.0 21.0
9209 2NN-3 «Q -150 -60.0 60.0| 4 204 44 O+2 +6 -680 -51.0 51.0|107 307 24 O+1 9 -140 -39.0 39.0
103 303 1INV +2 &3 -150 -60.0 60.0| 9209 3NV+3 ¢4 -690 -51.0 51.0|109 309 2N O +1 9 -150 -40.0 40.0
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